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571.3] 228.5 | 0.4
670 18 21 18 21 150.0 150.0 150.0 150.0)
1 500m 17 19 17 19 116.9 116.9 116.9 116.9
80m 17 19 17 19 19.3 19.3 19.3 19.3
200m 20 21 20 21 64.2 64.2 64.2 64.2
17 21 17 21 106.8 106.8 106.8 106.8
19 21 19 21 9.3 9.3 9.3 9.3
553.5 553.5 553.5 553.5)...
40m* 17 17 17 17 5.0 5.0 5.0 5.0
100m* 21 21 21 21 10.8 10.8 10.8 10.8
300m 18 18 18 18 1.0 1.0 1.0 1.0
17 17 17 17 1.0 1.0 1.0 1.0
17.8 17.8 17.8 17.8)...
(A+B) 571.3|
o

N o 16 17 100)

10,000 22 o 16 19 170

- o 18 18 0

- o 17 21 0
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